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Walt: learn the 5 times table
S2S: I can
• count in 5s

• find 5 more and 5 less

• recall the five times table



Starter
Let’s complete the 2 times table.

1 x 2 =
2 x 2 =
3 x 2 =
4 x 2 =
5 x 2 =
6 x 2 =

7 x 2 =
8 x 2 =
9 x 2 =
10 x 2 =
11 x 2 =
12 x 2 =



Use your fingers to help you recite 
the 2 times table to 12 x 2.

1x2 is 
2

2x2 is 
4

3x2 is 
6

4x2 is 
8

5x2 is 
10



Let’s Learn



Count in fives to 60. What do you notice?

101 2 3 4 5 6 7 8 9
2011 12 13 14 15 16 17 18 19
3021 22 23 24 25 26 27 28 29

5041 42 43 44 45 46 47 48 49
6051 52 53 54 55 56 57 58 59

4031 32 33 34 35 36 37 38 39



1) How many apples?

2) How many fish?

3) Complete the number track.

5 10 15 30 40 60



How many fish?
Can you write it as a multiplication?

____ lots of _____.

___ X ___ = ___



How many dots?
Can you write it as a multiplication?

____ lots of _____.

___ X ___ = ___



How much money in total?
Can you write it as a multiplication?

____ lots of _____.

___ X ___ = ___



Guided Practice



How many fingers in total? 

5 5010 15 20 25 30 35 40 45 6055

_____ x _____ = _____ 



or

How many towers has he built?

How many cubes are in each tower?

× =

How many cubes has he used in total?

× =

Jack has built some towers using cubes.



Your turn

Questions 1 - 3



Guided Practice



Have a think
Amir and Alex have some money.

Here is Amir’s money.

Here is Alex’s money.

How much money do they have altogether?



5 × 5 is the same as 1 × 5 + 4 × 5

Have a think

5 × 5 = 2 × 5 + 3 × 5

5 × 5 = 2 × 5 + 2 × 5 + 1 × 5

5 × 5 = 1 × 5 + 3 × 5 + 1 × 5



Your turn

Questions 4 - 5





Which is the odd one out?
Can you explain why?

6 x 5 = 30

5 x 2 = 10

8 x 5 = 35

5 x 4 = 20
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